EARAZROREIERT — 2 N— XBISY —F 202052898 (H) 20[@1{A£&2H

m?ﬂﬂ?ﬁﬁé‘ C2 ¥5%4mt (w8 | mEmml - |5 5 om
[xE£] 1 %&:250,000 W  2#%:75,000™ ~ 3#%&:25000M  43%&:15000 "  53#:10,000 M
B B BEBR M HE BF (FE) g4 L (&%) | BBIEM | EOF [SIEE | AR | A2 | BEER (FRB) / BE / £ENS
o RN Wit : -8-7- — HENE (1EE)
1 6 TFILTTITH 4 6 512_0 1.(2_3).6 10-8-7-3 | 37.7 2 go) mia@% =
R:d—IWR7Ya2—Ib B:7>XH—Kky K fitie
o M : 44~ — HEXE (£8)
o2l o| #7072 * o | 1% e el L I R R -
LHIRT1 TSR BedTIUTT Fiif  HEER
S o= FHASIA : -9-8- - WeE (%)
317l gl /s 15— i 4 b 1.(2;).7 9-9-8-7 | 38.6 7 <4+118) EAIE]E?.§ "
R:ZAv—h77)3> B:7LN=NLT AR
4111 | ¥aTd7ivL—" % 5 | HEAE 1(7211:? 3-3-3-4 | 40.4 3 (4_115) gﬂigtj (=H)
L:A—-R7INT1x BiHF/I0F FIRFY b T7—L
N N I &#h 124, -1-1- . - THERE (1)
5 73>/ HYY o4 56.0 1(/;24533 R ° 3_833) i =mes -
LTG5 TIVRZ BT TVIUTR EEL e
= X TER 05 b ) _ IWFEX (£8)
«H s T/EHY i 4 e 1(225)2 8-6-5-6 | 39.7 11 (4_316) quE§¥ "
R:FrvvH/ExEF BUIEXFTU-X T FHS
HKFRA : -2-2- — FllEE (1E%)
71811 TIrIR) YT % 4 ¥¢53.0 1'(225)'6 s 4.2 ! (4_076) *)E#;Eﬂl -
Libh=—trhvwLRy BRy MTHTFI— AR
0= o MBS . 1010 _ o2 =
8 2| TZR/ =TI it 6 54_531“5 1.(2‘8.3 6-10-10-8 | 40.0 10 <4+313) ggg%}(ﬁ%)
R:T—9T4=X B X—-NN—TF> K2 Rab ke ]
. A . “11-11- — FHEEAEE (1£%)
olglio| 77—=77 13— 5 54_01— 1(.32/%4 11-11-11-11] 39.1 9 (3_749) il =
KAy TI=21) BIXFNINRZ— =yiiLe]
N o RERE—BB :27. -7-9- . - IHER#E (E8)
10 4 P N 4 4 ;.0 1(287)9 7-7-9-10 | 41.6 8 (4_319) i&ﬁg—iﬂ
L:TFv 784K B:hOotEXa— J—HrTp—L
N it : 56— - WeE (%)
11 I IAYE/UR 4 oo 1.(2;)).6 5-5-6-9 | 43.7 6 :iz) EAIE]E?.E "
Z:d—IK7Ya—)b B:N—FE>MH—-I lEsie]
@ 1 —F—&EBlIEfL
13=7r= 11,7,1,9,3,2,4,5,8,6,10
23 =7= 7,11,1,9,3,5,4,6,8,2,10
BEE 7,11,1,9,5,3,6,8,4,2,10
41—+ — 7,9,6,1,11,5,8,2,3,4,10
[ N3
BB 6 260M 714K 6-9 160H e 6-7 320M 3JEHE 6-8-9 4,970
8 B 6 110 6-8 1,520H B = 6-9 360M K31 6-9-8 11,910
9 120 8-9 2,240 B H 6-9 580
8 820H

ARICOVWTRDTEEERROODE. TR LI,



